Honors Mathematical Modeling

Homework #6 (Optional): Prisoner’s Dilemma

Assigned: Tuesday, 11/3/09

Due: Monday, 11/23/09 at noon over WebCourses
Write a single function in C with the following prototype (except for the name of the function):

// Pre-conditions: yourhistory stores length days of history of your

//                 behavior while opponenthistory stores length days of history

//                 of your opponents behavior (0 = cooperate, 1 = dissent)

//                 mypayoff[0][0] stores your payoff if both cooperate,

//                 mypayoff[0][1] stores your payoff if you cooperate but

//                 your opponent dissents,

//                 mypayoff[1][0] stores your payoff if you dissent and your

//                 opponent cooperates, and mypayoff[1][1] stores your payoff

//                 if you've both dissented.

// Post-condition: Returns your move (0 = cooperate, 1 = dissent) for this 

//                 round.

int strategy(int yourhistory[], int opponenthistory[], int length, int mypayoff[][2]);

As this pertains to the Prisoner’s Dilemma, cooperating means NOT telling the police about the crime (ie. cooperating with the other prisoner) while dissenting means telling the police about the crime (NOT cooperating with the other prisoner).

Note that the way this is set up, any payoffs are possible, including ones that simply don’t make sense in relation to the Prisoner Dilemma’s scenario. Thus, your strategy has to be more versatile; it must take into account the payoff it is passed. It can be assumed that the history was developed with the EXACT same set of payoffs for each round.

Just turn in your function over WebCourses by 11/23 (Monday) at noon. We’ll hold the tournament in class on Tuesday.
Consult the attached file that shows two strategies going against each other.
